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MASTER OF ARTS (ECONOMICS)
(MEC)
Term-End Examination

December, 2022
MEC-001 : MICROECONOMIC ANALYSIS

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from all Sections as
directed.

Section—A

Note : Answer any two questions from this Section.

20 each

1. Derive the conditions of Pareto optimality.
Point out the main weaknesses of Paretian
analysis.

2. Consider a person having Von Neumann-
Morgenstern expected utility preference over
lotteries. Discuss how she maximises her
utility.

P.T.O.
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How can efficiency wage theory be used to
explain the presence of unemployment, as well
as wage determination ? Discuss.

What 1s a social welfare function ? What
properties of social optima should this function
satisfy ?

Section—B

Note : Answer any five questions from this Section.

5.

6.

12 each

A household lives for two periods, 0 and 1. It
begins its life with zero financial wealth, earns
income Y, = 100 in period 0, and income

Y, = 100 in period 1. If the interest rate is

given to be 3%, and the utility function of the
household is :

find the consumption in period zero.

(a) Find all the Nash equilibria and
corresponding payoffs of the following

game :
Player Vishnu
Left Right
Player Up 50, 50 80, 20

Jyoti Down 80, 20 50, 50
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(b) There are two players P, and P,. P, could

be either type H or type D. The payoff

matrices accordingly are :

P,, Type H
X Y
0,0 | 0,1
Py
Y | 0,0 | 4,1
P,, Type D
X Y
4,4 10,5
Py
5,0 | 2,2

(1) Write in detail the normal form of the

game and find the Nash equilibria.

(i1) What is the sub-game perfect equilibrium

of this game ?

7. If a consumer’s utility function is given as :
2
u(xy,xy9) = (‘/xl + sz)

P.T.O.
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with the prices of the goods as P, and P,

respectively, with income = M.

(a) Formulate the expenditure minimisation
problem.

(b) Derive the Hicksian demands for x; and

Xg.

8. Which key features of Williamson’s model help
in better understanding of the behaviour of a

firm ? Give details in support of your answer.

9. Suppose there are two ‘goods’, consumption C
with price P = 1 and leisure R with price D = 8.

The endowments of the two goods are given by

C=0and R = 24. The utility function is :
U(C,R)=21logR +1og C
How much labour should be supplied and how

much consumption should be chosen ?

10. What 1is the theory of the second best ?
Explain the theorem with the help of a

diagram.
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11. Write short notes on any two of the following :
(1) Merit goods
(11) Consumer’s surplus
(111) Hotelling’s lemma
12. Differentiate between any two of the following :
(1) Short-run and long-run cost functions

(1) Collusive and non-collusive oligopoly

(111) Adverse selection and moral hazard

P.T.O.
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2. Wil W & HA-TRA gy Sy
MIHehal W aTell Teh Afed W fa=m wifsm)
==l Hhifee for g8 1ol SyAifiar sifuedn ford
YRR H

3. SRS & Sufeufd oIk megd fruRor @ T
FH U 3 Aol fag &1 wE w9 fwar S
Hepdl & 2 == i)

4, G & W ¥ § ? T Hed
qrifeeh SeARdl i A faRivad g S
=M ?

qOaMT—e
Tz : 39 9 9 fe=l arar weAl & Sw S u)
TI& 12

5. T URER < Efdl, sEfy 0 IR ey 1, q%
WA T T8 AU SaA I fod wufa & Wy
TR R € qe 3Ef 0 H 3 Y, =100
R erafy | H & Y, =100 B AR <A *T
T 3% & gE ¢ IR IRER &1 ST B -

1 (Cy,Cy) = u(Cy) + 0.75u (Cy)

g, @ sty 0 § IUNN F@ wifSy

P.T.O.
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6. (1) fafafed @a & @f A9 Fgem @R
Tfa gfaufa I S .

faemet fo

g g

15 I |

S | 50,50 | 80,20
et s=ifa

= | 80,20 | 50,50

(7)) ¥ faarEt Py 3R P, B Tl Py, H
YHR A D YHR HT B Hehal ol THR

IFTER Fawiia oee @

P,, H TR

X | Y

X [0,0] 0,1

I)1 b 2
Y [0,0] 4,1
P,, D T&HR

X | Y

X |4,4] 0,5

I)1 b b
Y |5,0] 22

() 3 WA & W WEY & faer
AT 3R 91 Hqer @ i)

(i) 3@ WA & ITEA qUf Gged N T ?




7.

10.
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I Tk IU9SAT hl SYIR Hed 59 ThKR
& Al % :

u(x),x9) = (\/a + @)2

I ® HWd FE: P, R P, qAq
I =M =l
(1) =T FAHIHLOT FHET 1 &0 iU
(q) x, IR x, & fou fewdm A =ge=

HIFST|
fafeeme & dfea (9faam) &1 SE-w q=
foRIoar wH % FIER i dEm HSH W HEEE
27 o S & wy H fgew dfvu

o for ol € wIHd P =1 % WY SUH

AN HAd D=8 & WY HEd (Wl T949) R

I agetil W URfew fafemi C=0 @R

R = 24 2| S ®ed € :
U(C,R)=21log R +1og C

gq & fRadt emyfd Bt wfew efk fmaw

SR AT AMfeq 2

fgda I3 (second best) T fagra &0 T2 TH

fos ! Te&ar ¥ 39 YHT ] SO Sifs|

P.T.O.
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11. frafafaa 4 @ fof 37 w ofm fewfoat
fafew .
(@) wuhe gy
(i) YT e

(iii) Blefoer 1 FHIEH

12. frafafea & = *E 37 IR FIfST .
() TCURTA 3R HRTA AN Feld
(i) TeEHd 3 TR-Tea A TeuiHeaR

Y~ A~ .
(i) faodd == ot Afaew g8
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